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WEST BENGAL STATE I]}IIYERSITY
B.A.lB. Sc. Minor/Cor 2nd S emester Examinati on, 2024

GEOMIN2 O2T/GEOCOR2O2 T.G

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicatefuti narlcs. 4fg"f #vf sq'Eq<"01fr {'ftn ffitOmt
Candidates should answer in their own v,ords "ffrqlff{l frA5-:3 vt{/I,g {El aw 'nfiq? Ae l
and adhere to the word limit as practicable. Gel OfrR t

All symbols are of usual significance.

CATEGORY.A I C{ft-+

Answer any two questions from the following (within 600 words each) 70x2: 20

ffiqits G-rs'fi3{t Itr are-< Ee-a Ae (eftfr uoo xfsq-6 q6ql)

Critically discuss the stages of "demographic transition model" of population

with specific example.

Eap Eqtq<qqq orffitffi-s ffiT{:q-rsro< F&E qftefr frmntq-{'slm qlrdto-{I

qc<tt

Classiff urban sefflements on the basis of population size and their function with
suitable example from India.

G"rp EqR.a"FIq+-Ir< slsIMI q-{-qi"[I< \il?Fr{ s rlre-{ <T{ q-$r-ft qti< ({ft<
6ftftsp'1q1ret1

What are the factors that determine the location of tea plantation in India? Briefly
discuss the problems the tea industries are facing in our country.

vtrcs u Ftafl{ w{EIGK fi{s$'efr ft fr I qnlrq< crc*lEt FH <firt R q:q-;mefr.{

q{fr"{ C{eF ni1T-cai qfcqt5-d1 st3t I
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CATEGORY.B / G{ft.{

Answer any four questions from the following (rvithin 150 words each)

FHfrfu 6q-6affi u'rr8 eTrr{ tq< qls (Effi:co 'fm-{ THI)

How does intensive farming differ from extensive farming? Explain with
example.

EqRTq {qc{trt qtflT $ fifiv gRl x<i "ticF$i fr-s'n +-c<'ri

Explain the characteristics of age-sex pyramid of a developing nation.

ffiE 5q6"K <rr{-frq FmRcrE<kFBets fr fr I

Mention the major characteristics of food-gathering societies-

efiry qiq{flfr qfrft< Telj ?<FEtefr mr.fi r
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Mention the factors responsible for uneven population density in India.
sr{"6r< q'qx 6-{qffig< s]<"ieFf €rn{ $r{tr

Give an account of the traditional livelihood pattern of the Masai.
rmR-bqsfleffi{ Eqttds @R"+refrfrfr r

Explain how scattered settlement is eorverted into compaet settlement.
Rfrg E-fiqB frgt{< (rirff<6 q*jFffi&{E m fi-€Btr E{ ?

Briefly explain how poverty affects literacy rate of under developed country.
Rret(T qfrq \s-{*o {ftr-l{ rTIs{stE EHffi erv-ms rr< \ot qvs(l $ls't wqt r

11.

CATEGORY-C / G{ft.{
' Answe r anyJivequestions from the following (within 50 words each)

ffiR\o m-(sfiFl "tb6 efrm B€a fls (eftfr ro rt6qE qsu;

State two features of tertiary activities withexirmple.
Ent<gqq{Hffi (m( cqlFrffi $?<Fts Esaq imsl r

12. What do you undentand by "pink-collar workers"?
"Pf(s-s-f,r{ €Tfstfi" TErsfr mRilt t

L3 Define age-specific birth rate.

Esq-Fffi q-{qR:ffi q(@t kl\s I

14. Define Megacity.

{s{tfrBd {qelQ€ r

15. What is optimurn population?

$try q.qq(ff strs <[q ?

16. L4ention the impotmrce of "Haka" {a performing art) in Maori Culture.
$€fr q(Tfus ''qFF".{( eBFq Er-gq wat r

17. Sf,hat is meant by zero population growth?

tgu-aqi*G<-qomf{r<fi ?

What is "Ne*ropoXis"?
..6qqffiq,, fr ?
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2x5 : 10

t

What is pull factor in migration?

ffiq"H-.q6tEsnSKsftFFffT ?
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